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Ex/Sans/PG/1.1/15/2017

MASTER OF ARTS EXAMINATION, 2017
(1st Year, 1st Semester)

SANSKRIT

Course : I

[History of Sanskrit Literature and
Ancient Indian Civilization]

Time : Two Hours Full Marks : 30

The figures in the margin indicate full marks.

1. EÍFXPáFP&F¶FÜFX: ÒèÎFÜFXÞÎÜF¶FÞõÜF õFÛFFÍFFÎFk =+FÜFaÛFh— 6

(=+) õFkõ=_+¶F¼_èÜF=+FæÜFW êFùðFaõÜF =_+P¶F¶æFk õFÛFFõF¶FX PÎFàÑFµFUÜFÛFh—

(&F) &Fµ°=+FæÜFPÛF¶ÜFÎF WÎF P=+ÛF ]˜ÜF¶F W? =+FPáF¼FõFÑFÞæFP¸F aðF ]
&Fµ°=+FæÜFWðF] ·FÜFÛFæFáFÛÙÜF PÎFÙFÎÍFX Þ˜FÎFUÜF:—

2. EÍF:Põ»F¶FWðF] ÒèÎFWðF] PÂ¶FÜFõÜF õFkõ=_+¶FÚFFðFÜFF ÎFF;FÞUPáFPÑFÛFFPêF¶ÜF
õFÛFFÍFFÎFk =+FÜFaÛFh— 1×2=2

(=+) õFkõ=_+¶FõFFPù¶ÜFW J=+õÜF ÚFFæFÒ¶FU=+FêFPÜF ¼_èÜF=+FæÜFõÜF
(allegorical play) H¼FùÞµFk ¼UÜF¶FFÛFh— =W+ÎF ˜F ¶FPÂÞP˜F¶FÛFh?

(&F) ÛF]½FÞF‡FõFÎFF©=W+ ÞF‡FõF: =+ EFõFU¶Fh? ¶F·F =+P¶F E’~F
PæFÃÎ¶FW?

(;F) iEæFPÎ¶FõF]Î¼ÞU=+»FFj=+FæÜFFÎF]õFFÞk ÚFFÞPæF: =+PõÛFÎF h ;FX·FW
E¡FFÜF¶F? ¶FõÜF ÑF[æFaÑF]ßðFFµFFk PÎFæFFõFPæFðFÜFW ¶FPõÛFÎFh =+FæÜFW
P=+ÛF]ƒ¶FÛFh?
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3. õF kõ=_+¶FõFFPù¶ÜF W ÛFùFÛFùXÑFFÍÜFFÜF-ùPÞ¼FõF-PõFÊFÎ¶FæFF;FUèFõÜF
=+FáFUÑF¼¶F=+F a˜FFÜF aõÜF æFF =_+P¶FÛFFPêF¶ÜF õF kP‡FÑ¶FX PÎFÙFÎÍFX
PæFÞ˜ÜF¶FFÛFh— 4

4. EÍFXPÎFP¼añWðF] ÒèÎFÂÜFk õFkõ=_+¶FÚFFðFÜFF ÎFF;FÞUPáFPÑFÛFFPêF¶ÜF ˜F
õFÛFFÍFWÜFÛFh— 1×2=2

(=+) êFUÞFÛF=_+ðµFõÜF ˜FPÞ¶FÛFFPêF¶ÜF P=k+ ÎFF©=k+ =W+ÎF ˜F PæFÞP˜F¶FÛFh?

(&F) =+õ¶FFæF¼h =+PæF: iõFÎFW©hjÞ˜FÎFW =_+¶FPæFÃ JæF?

(;F) =+õ¶FFæF¼h ÎFF©Ý=+FÞX iæF]°X¼Fj GP¶F ÎFFÛÎFF ÒPõFÊ:?
¶FPÂÞP˜F¶FõÜF =+õÜFP˜F¼W=+õÜF àÑF=+õÜF ÑFPÞ˜FÜFX ¼WÜF:—

5. ÛFFYÜFaèFFõFÎFæÜFæFõ»FFÜFF: õæFàÑFÛFFáFX˜ÜF¶FFÛFh— 6

E»FæFF,

=]+ðFFµFÜF];FõÜF õ»FFÑF¶ÜF-PèFáÑFõÜF PæFæFÞµFk ¼WÜFÛFh—

6. PÎFÛÎFPáFP&F¶FWðF] ÒèÎFÂÜFk õFkõ=_+¶FÚFFðFÜFF ¼WæFÎFF;FÞUk PáFPÑFÛFFPêF¶ÜF ˜F
õFÛFFÍFWÜFÛFh— 1×2=2

(=+) ùÞÑÑFFõFÚÜF¶FFÜFFk ÒFÑ¶FFÎFFk õFÛFFPÍFõ»FFÎFFÎFFk ÂÜFXßááFW&F: =+FÜFa:—

(&F) HÑFÍFF =+P¶FPæFÍFF? ¶FWðFFk ÎFFÛFFPÎF PáF&ÜFÎ¶FFÛFh—

(;F) ùÞÑÑFF-ÛFùW¦¡FX¼°X-ÎFF;FÞÜFX: Ò¶ÎF¶FFP¸æF=+X¶&FFÎFÎF k =+¼F
=_+¶FÛFh?
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7. P=k+ ÎFFÛF ¡FF¶F=+ÛFh? EF&ÜFFÎFõFFPù¶ÜFW ¡FF¶F=+õÜF ÛFù¸æFk õFÛFFõF¶FX
PÎFßÑÜF¶FFÛFh— 6

E»FæFF,

¡F YÎFF;FÛF W¶FÞ;FeÎ»F WðF ] æÜFF&ÜFFÛF [áF=+=+FæÜFFÎFF k PæFæFÞµFk õFÛFFõF¶F
HÑFõ»FFÑFÎFUÜFÛFh—

8. EÍF:Ò¼¸FFÎFFk ÂFY ÒèÎFFY õFkõ=_+¶FWÎF ÎFF;FÞUPáFÑÜFF ˜F  õFÛFFÍFWÜFFY—
1×2=2

(=+) ¶F_¶FUÜFÙFFYÊõF”~UP¶F: =+õÜF ÎF_ÑFõÜF èFFõFÎF=+FáFWNÚFæF¶Fh? ¶FPõÛFÎFh
õFkÛFWáFÎFW =+õ¶FFæF¼h õFÚFFÑFP¶F EFõFU¶Fh?

(&F) EPÚFÍFÛÛFPÑF©=+FÎ¶F;Fa¶FFÎFFk ;FeÎ»FFÎFFk ÎFFÛFÂÜFk áFW&FÎFUÜFÛFh—

(;F) iðF©h&Fµ°F;FÛF:j GP¶F ¡FYÎF;FeÎ»F: =+ÜFF ÚFFðFÜFF =W+ÎF ˜F
PæFÞP˜F¶FÛFh—

____________
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